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Hiltﬂmwﬂhmnlwmum. I have never yet
‘visited the Conneotiout Bxperimental Btation. Your suggestion as
to tide is entirely agroeabla.

1 have been trying, perheps not altogether sucoessfully, to
reconstrust your insulin assay problem.  Oould it not be locked at
1ike thist? You have 12 rebbite, esch with L tests, giming 36 degrees
of freedom for comperisons eliminating rebbits. Regressicn of log
m-uunu-nnsmmmmmumtmﬁwnn
froedom, leaving 30 for error or residual. Of course, teata may
have been done at L periods on & Latin Square



does, whigh would take up 3 more of the rescidusl degress of fresdom
4 times and lasave only 2J for error. I do not thiny your problam

involves the gueation of linearity of response on log dose, o I
have not brought in this complisations

Yours sinoerely,



